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I. Vocabulary and sentence structure: Select the best answer to complete each sentence. (40%)

1. The police two men for burglary.
(A)accused (B)arrested (C)charged (D) convicted
2. Many people about the bad behavior of soccer fans in the city center after the
match.
(A) complained  (B) criticized  (C) disapproved (D) objected
3. Ican’t wear pink. It just doesn’t me.
(A) agree with ~ (B)fit (C) match (D) suit
4. Lucy’s parents wouldn’t her stay out later than 10:30 at night.
(A)agreeto  (B)allow (C)let (D) permit
5.  When you buy shares, your investment is always at since share prices can go down

as well as go up.
(A) danger (B) gamble (C)risk (D) trouble

1 6. Robert’s rashness in the face of danger finally him his life.
(A)cost (B)deprived (C)lost (D)took
7. The design of our new offices is of Gaudi’s buildings in Barcelona.

(A) memorable  (B) remembering  (C) reminiscent (D) thinking

8. Mostofthe members aboard the new ocean liner were from Indonesia.
(Aycrew (B)gang (C)staff (D)team
9. Tam sorry I said that. But it wasn’t my _ _ to hurt you.

(A) intention  (B) meaning  (C) plan (D) purpose

10. _ to becoming Professor of History at Oxford, she spent five years at Harvard.
(A) Betore  (B) Preceding  (C) Previously (D) Prior

11. Despite all indications the contrary, the island was in fact inhabited.
(A)by (B)on (C)or (D)to

12. The performance of Beethoven’s fifth symphony was by a weak violin section.
(A) harmed  (B) lessened  (C) marred (D) reduced

13. We’d better eat the bread now. It will be _ by tomorrow.

(Aybad (B)inedible (C)old (D) stale

14. All applicants for this job must have a university
(A) career  (B) certificate  (C) course (D) degree

15. These families have been living beyond their for several years.
(A)means (B)money (C)resources (D) status

16. All the evidence to the politician’s involvement in the crime.
(A) attributes  (B) points  (C) refers (D) shows
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17. Despite persistent questioning from journalists about her private life, the film star

remained
(A) close-knit  (B) stony-faced  (C) tight-fisted (D) tight-lipped

18. Despite being called three times, Ginawasso __ in her book that she didn’t hear.
(A) distracted  (B) engrossed  (C) preoccupied (D) sunk

19. The employee was __ for the injury she received at work.
(A) benefitted  (B) compensated  (C) remunerated (D) rewarded

20. Hard-working managers often prefer to doan MBA _____  distance learning.
(A)across (B)over (C)per (D)via

21. The CEO admitted that results had fallen of his expectations.
(A) little  (B)low  (C) short (D) small

22. Outsourcing the assembly process has given us a _ of approximately 20%.
(A)gap (B)ymargin (C)refund (D) saving

23. The disease showed remarkable __ to any known drug.

(A) immunity  (B) opposition  (C) resilience (D) resistance

24. ____ physicist, Gabriel Fahrenheit, invented the mercury thermometer in 1714,
(A) Thereis (B)Itis (C)The (D) Itisthe

25. Management _________ as the organization and coordination of an enterprise.

(A)to be defined  (B)itisdefined (C)definable (D) can be defined

26. Whensugar _____ to yeast, fermentation takes place.
(A)isadded (B)itisadded (C)byadding (D) adding

27. The Irish brought the popular custom of Halloween to America _ 1840s.
(A)intothe (B)inthe (C)within (D) during

28. By observing REM, or rapid eye movements, ___ to know when dreaming occurs during
sleep.

(A) it is the possibility ~ (B) is the possibility ~ (C) it is possible (D) then is possible

29. __ the sense of smell can provide us with important signals, it is not as useful as
hearing.
(A) Although  (B) However  (C) Because (D) Despite

30. _ gold, silver, and copper, pure iron is rarely found in nature.
(A) Asunlike  (B) Unlike the  (C) Unlike (D) Unlikely

31. The overall efficiency of a system can be that of its weakest element.

(A) no greater than  (B) less greater  (C) nothing as great as (D) not the greater
32. Bees find their way to the nectar in a flower _ ____ differences in the humidity of the air.

(A) which senses  (B) by sensing  (C) sense (D) sensed
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33. Theidea  the film was based came from a well-known novel.

(A) in which  (B) from which ~ (C) on which (D) which

34. We must reinforce the river banks. _, there 1s bound to be flooding in the winter.

(A)Asaresult  (B) Otherwise  (C) Infact (D) However
35. He is undoubtedly the best player in the team. _, he 1s very unpopular with the other
team members.
(A) On the contrary  (B) Otherwise  (C) On the other hand (D) After all
36. From now on, you won’t be able to go out as much as you
(Ayare (BYhad (C)usedto (D) will
37.  my credii card with me, I would have bought that handbag.
(A) If I have  (B)Having  (C)To have (D) Had I had
38. Suppose you ___ a ghost. What would you do?
(A)ysee (B)saw (C)seen (D) seeing
39. I think I’d rather havetea _ cotfee.
(A)instead of  (B)in favorof  (C) because of (D) in case of

40. Anappleaday ___ good for you.
(A)ybe  (B)be thought (C)whichis (D) is thought to be

1. Cloze. (207%4]

Petra,in 41 Jordan, is a spectacular ancient city, where huge buildings and temples

have been cut out of solid rock. Its history extends back in time almost 2,000 years. Because it is

hidden 42 inthe mountains, for 700 years __ 43 people knew Petra existed. Although
there were rumors of a lost city in the area, no one could find it. 44 over 400 square
miles, the enormous city of Petra was built in several stages. Thanks to its 45 in 1812,

Petra is now a popular tourist attraction and a fantastic place to visit.

41. (A) the south  (B) southerly  (C) southern (D) southward
42. (A)deep  (B)deeper (C)deeply (D) depth

43. (A)atfew (B)few (C)fewer (D) the few

44. (A) Cover  (B) Extend (C)Plate (D) Spread

45. (A) archeology  (B) discovery  (C) location (D) scenery

65 million years ago, dinosaurs suddenly became 46 , together with a large number

of other species. Many scientists believe that the cause was a large asteroid 47 into the

Earth. According to this theory, the asteroid threw huge amounts of dust and water vapor into the
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atmosphere, 48 out the light of the sun, the vegetation died off, and the dinosaurs starved
to death. Evidence for the theory came in 1992 49 scientists in Mexico uncovered an

underground crater 175 kilometers wide, which turned out to be exactly 65 million years old. The

crater was probably caused by an asteroid 10 km 50 hitting the Earth at thousands of

miles an hour.

46. (A) disappear  (B) extinct  (C) inanimate (D) perish

47. (A) crashing  (B) entering  (C) impacting (D) reaching

48. (A) which blocks  (B) to block  (C) blocking (D) that was blocked
49. (A) that  (B) though (C)why (D) when

50. (A) circumference  (B) globally  (C) in diameter (D) per second

A person’s 1Q is their intelligence 51 it is measured by a special test. The most

common lQ tests are 52 by Mensa, an organization that was founded in England in 1946.

People taking the tests are judged in 53 to an average score of 100. All the questions are

straightforward and most people can answer them if 54 enough time. But that’s the
problem—the whole S5 of the tests is that they are against the clock.

51.(A)how (B)that (C)as (D)so

52. (A) appointed  (B) commanded (C)run (D) steered
53.(A) association  (B) concern  (C)regard (D) relation
54. (A) allowed (B)let (C)provided (D) spared
55.(A) matter (B)point  (C) question (D) reason

English spelling is extremely complex, and this means that even in the early stages, reading is
not a simple matter. There are two basic methods used in teaching children to read, the ‘look and

say’ method and phonics. The English spelling system basically 56 speech sounds by

letters, and the latter teaching approach encourages children to match the sound to the letter. But

phonics does not help with the many words in English that do not 57 phonic rules. This

is where the former method 58 in. The ‘look and say’ method is designed to make use of

children’s visual memories and in this way give them 59 to a wider range of words. It

encourages recognition of the whole word rather than its constituent 60

56. (A) pronounces  (B) represents  (C) teaches (D) writes
57.(A) follow  (B)to follow (C) be following (D) be followed
58.(A) brings (B)comes (C)looks (D) takes

59.(A)access (B)advice (C)steps (D) ways




AL KE 102 SRR B AR 24 1

R BBAR TR #8 3%
ARXEHTANBBRER) 28 AhAm s

o

60. (A)data  (B) grammar (C)parts (D) rules

HI. Translation. (15%)

1. B BAEH FiRAL o B S TRATITE °
2. PEHEE > R BRE % 0 BRI SREMBHE -

3. AURRMENZ—WAT  B@THEA > —RIRFHEE—T -

IV. Paragraph Writing. (25%)

Think of an amusing experience you have had. What happened? What was funny about it? Write

about that experience in a paragraph of around 200 words.




